EXP-76EZ

REVISION: -

ECONO.: -

DRAWN BY: G. REEDER
DATE: 5/27/05

COXREELS

SERIES EZ-S 17

NOTE: APPLY BLUE LOCTITE #242
TO ITEM 28.




EXP-76EZ

EZ-S 17" MODELS

218|128 3|8|8]|s
g B i e B e
DETAIL ~ N~ ~ N~ ~ - = =
ITEM NO. PART NO. DESCRIPTION ‘_I’.’ ‘_I’.’ ‘D:’.’ ‘D:’.’ o o ) )
R
1 8417-R ASSEMBLY, 17" SIDE MOUNT - - 1 1 - - 1 1
8417-L ASSEMBLY, 17" SIDE MOUNT 1 1 - - 1 1 - -
2 6440-SS |SPACER, SS 1 1 1 1 1 1 1 1
3 640-1-SS |CAM, LOCKING 1 1 1 1 1 1 1 1
4 274-1-SS |SPRING 1 1 1 1 1 1 1 1
5 6441-1 WASHER, SPACER 1 1 1 1 1 1 1 1
6 6326 RING, RETAINING 1 1 1 1 1 1 1 1
7 1935 SWIVEL, 3/8" 1 - 1 - 1 - 1 -
439 SWIVEL, 1/2" - 1 - 1 - 1 - 1
8 10235-SS |STUD, 3/8-16 X 1" SS 1 1 1 1 1 1 1 1
9 7474-4-R  |DAMPER, EZ-COIL - - 1 1 - - 1 1
7474-4-L |DAMPER, EZ-COIL 1 1 - - 1 1 - -

1961-7 ASSY., SPRING CAN - 1 - - 1
10 1961-7R  |ASSY., SPRING CAN 1 - - 1 - - -
1961-5 ASSY., SPRING CAN - - 1 - - - 1
1961-5R  |ASSY., SPRING CAN - 1 - - - 1 - -
11 237-1 GUARD, HOSE, 1/4" - 3/8" - - - - 1 - 1 -
398-1 GUARD, HOSE, 1/2" - 3/4" - - - - - 1 - 1
12 381 CLAMP, #10 2 - 2 - 2 - 2 -
383 CLAMP, #12 - 2 - 2 - 2 - 2
13 130 NUT, #10-32 KEPS 5 5 5 5 5 5 5 5
14 245 SCREW, #10-32 X 3/8" 2 2 2 2 2 2 2 2
15 131-3 BALL STOP, 3/8" - - - - 1 - 1 -
131-4 BALL STOP, 1/2" - - - - - 1 - 1
16 1924 LOCKING RING 1 1 1 1 1 1 1 1
17 125 NUT, 1/4-20 KEPS 3 3 3 3 3 3 3 3
18 5153-50 HOSE ASSEMBLY, 3/8" X 50' - - - - 1 - 1 -
5154-30 HOSE ASSEMBLY, 1/2" X 30' - - - - - 1 - 1
19 1947 DISK, 17" 1 1 1 1 1 1 1 1
20 1948 DISK, 17" 1 1 1 1 1 1 1 1
21 1953 BOLT: 1/4-20 X 1-1/2" CARRIAGE 3 3 3 3 3 3 3 3
22 1755-1 WASHER, SPACER 1 1 1 1 1 1 1 1
23 1753 RING, RETAINING 1 1 1 1 1 1 1 1
24 10937 LABEL, EZ-COIL PRODUCT 1 1 1 1 1 1 1 1
25 10925-5B |LABEL: EZ-COIL, ID, STD. 1 1 1 1 1 1 1 1
26 8243 PIN, LOCKING CAM 1 1 1 1 1 1 1 1
27 7050 NUT, #10-32 NYLOCK 1 1 1 1 1 1 1 1
28 8427 SCREW, #10-32 X 5/8" FLAT HEAD 1 1 1 1 1 1 1 1
29 8428 SCREW, #10-32 X 1-1/4" FLAT HEAD 1 1 1 1 1 1 1 1
30 10937-1 LABEL: EZ-COIL, PATENT NO. 1 1 1 1 1 1 1 1

REVISION: A ECO: 2371-12 DATE: 1/4/2007 NAME: M. LLOYD

EZ-S-17 Series EXP-76EZ.xIs



